arning - Verbs; of
Incomplete
" At the end of this lesson, you will be able to: |
1. Define transitive and intransitive verbs.
2. Define a verb of incomplete predication for

¥
L

rbs. !
5. DeldeA AR U5 A0 verbs.
4. Define objective complement of transitive verbs.
5. Identify the difference between a transitive verb

of incomplete predication and a transitive verb
with two objects.
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*Verb |

A verb is a word that describes an action or a state of being.

A sentence needs a verb for it to be a complete thought or

Examples:
1. Riya ﬂ-‘f‘." story.
The verb de: an action that Riya does.

2. Riya iivu-y tall.
verb

The verb denotes Rlﬁ'l state ni bcii or condition.
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M=XUs

An action verb denotes an action taking place physically or
mentally. It tells us what a person or thing does.

m@“ <nds of action verks! fransitive veros and
intrans :
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Transitive Verb
A

A verb which takes an object to receive the action and

complete the meaning of the sentence, is known as a

transitive verb.

* The object refers to a person or thing that is different or
separate from the subject.

* The objeci may be a living or a non-living thing.

A tmuiﬂum-b takes a direct object.
Sometimes, a transitive verb may take two objects: a direct
object and an indirect object.
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Direct Object |

The noun or pronoun which receives the direct action or is
directly affected by the action, is called the direct object
of the verb.

The direct object may refer to a living or a non-living thing.

To find the direct object of a verb in a sentence, ask the
question lrw‘wm?'afmﬂum-h .

E I :H‘*: ... ' : '

Ryan played football,

frmsifiu: verb dir:c't object

Ask the question: Ryan played what or whom?
Answer: football
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Indirect Object |

To find the indirect object of a verb in a sentence, ask the
question, “To Whom?” or "For Whom?” after the verb.

Example: Hannah d a cake for '
B I W
object  object

13fhdﬂptmmndMHﬂufﬂuvub1ﬂkﬂwqmwmm
Hannah baked what?

Answer: cake

To find the indirect object of the verb, ask the question:
Hannah baked a cake for whom?
Answer: Sam
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Indirect Object )

The noun or pronoun which is indirectly affected by the action
of a verb, is called the indirect object of the verb.

* An indirect object comes before the direct object and
indicates who or what receives the direct object.

. Adimtohjmtﬂuwndfwmmtobjcc’hbephud
in the zentence.

* The indirect object is a person or a living being.
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Intransitive Verbs J

A verb which has no object to receive the action, is known as an
intransitive verb.

* An infransitive verb completes a sentence.

« It tells us something about the subject itself.

Examples:

=, Tlulrmsqurk:d

suau: / Iverk
Ask the question: Thtmutsqmnkedwhnfnrwhm?
Answer: No answer
The verb squeaked has no object. Therefore, it is an intransitive
verb.
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Verbs of Incomplete Predication |

Some intransitive and transitive verbs require a word or group
of words to help them complete the sentence.

Examples:
1. Roy is a good friend.

sub.itcf il;w itive

mb 'y d 1114 3 2~
The good Friend help the vert complete the predicate or
what it says about the subject.
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Verbs of Incomplete Predication \

mmwmwmqmﬂwm
of words to help them complete the sentence.

Examples:
2. The teacher called the student a genius.

—
—
el

p ,_H\Itrnn:if;u object
() \YBE -

Qtn.sﬂm._ﬂy teacher called whom or whet?

Answer: student

The words a genius describe the object and help the verb, called

to complete what it says about its object,
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Verbs of Incomplete Predication |

A verb which requires a word or a group of words to complete
the predicate or what it says about its subject or object, is
called the verb of incomplete predication.

The word or croup of words which Aelps the verd 15 complete
what it says about its subject or object, is called the
complement of the verb.

A complement here refers to something which helps to complete
another thing.
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Verbs of Incomplete Predication |

1. Roy is a good friend.
¢ -

of the verb
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When a complement describes the subject of a verb, it is
known as a subjective complement of the verb.

An intransitive verb always takes a subjective complement
sinceif[llé.?niquod

Verbs such as be, become, seem, appcm-mmm
examples of verbs of incomplete predication of intransitive
verbs,
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e Verbs of Incomplete Predication

Do not confuse a transitive verb of incomplete predication and
a transitive verb with two objects.

+ The objective complement describes the object of a transitive
wbﬁ"ﬂrwfhuparﬁedfmmm

-..‘---"

* The dir:ci' object and indirect object of a transitive verb

refer to two unlike or separate things or persons. They do
not describe each other.
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Verbs of Incomplete Predication |

Examples:
1. Ziziq:?hcbookhthnmdng

transitive object objective complement
verb
Question: Zizi gave whom or what?

Answer: book

The N The &vening descrite the object + bock; and help
the verb mﬂﬂcﬂfﬁmaﬂoﬁftﬁcﬁm

The verb gave, is the transitive verb of incomplete predication.
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Examples:
L The*doll is beautiful.

-
subject  subjective complement
The verb is, is the intransitive verb of incomplete predication.

The word beautiful describes the subject and helps the verb

ww@nmwﬂumm
2. The squcakedloudly |

nbj.ect nbjecﬁw complement
The verb squeaked, is the intransitive verb of incomplete
predication.

The word loudly describes the subject and helps the verb
conpiete what it so RSSUARERENER
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Objective Complement |

When a complement describes the object of a verb, it is known
as the objective complement of the verb.

Transitive verbs of incomplete predication take objective

c«wkmp\

- | 1 L. ¥ R .
VWMM, call, find and think are common examples
of transitive verbs which usually require a complement.
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| Ob\j_&icﬁve ‘Complement

2. mmfmmmfm

Question: The mother found whom or what?

Answer: baby

'I"h: st asleep describe the object and help the verb
mplese what it Says cboit the objec) |

Thcvu-b , is the transitive verb of incomplete predication.
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=

1. The boxer lmoikﬂl his oppu:um m%leﬂ
transitive verb object objective complement

Q.luﬁon The boxer knocked whom?

o ™

is the transitive verb of incomplete predication.
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(o3 Verbs @f Incomplete
Predication

What did I learn today?

8. The noun or pronoun which is indirectly affected by the
action of a verb, is called the indirect object of the verb.

G Gy 43 eme) el 11 ol

nbjocthuqﬁwdfwnnmnbjuftnbcphmdin

10. The indirect object of a verb answers the question,

™o v~ e




(=3 Verbs @f Incomplete
Predication

5. A verb which takes an object to receive the action and
complete the meaning of the sentence, is known as a

é.mwmmwu

directly affected by the action, is called the direct object
of the verb.

. 7. The direct object of a verb answers the question, "What?"

| o e ot —




Verbs BF Incomplete
Predication

What did I learn today?

17. When a complement describes the object of a verb, it is
known as the objective complement of the verb.

18. Tﬂﬁmmm




o3 Verbs BF Incomplete
Predication

14, The word or group of words which helps the verb to
complete what it says about its subject or object, is
complement of the verb. A complement here

rnos Tancanorne .

i 15. When a complement describes the subject of a verb, it is
known as a subjective complement of the verb.

16. An intransitive verb always takes a subjective complement

since It has no




Verbs g Incomplete
Predication

11. A verb which has no object to receive the action, is known

12, An

13. A verb which requires a word or a group of words to
complete the predicate or what it says about its subject
or object, is called the verb of incomplete predication.




Incomplete

Predication
What did I learn today? |-

2 —_— LW W NE—
19. Do not confuse a transitive verb of immhfe-pudicaﬂm .
and a transitive verb with two objects.
* The objective complement describes the object of a
transitive verb. It cannot be separated from the verb.
* The direct object and indirect object of a transitive
verb refer to two unlike or separate things or persons. il‘
They do not describe each other.
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